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.
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 2.1.  ( ) 
 1  ( )

t 2 2 H2S
0
10
20
25
30
35
40
45
50

69,48
53,70
43,39
39,32
35,88
33,15
30,81
28,60
26,57

3347
2319
1689
1450
1250
1106
974
862
762

7027
5112
3929
3432

-
-
-
-
-

, .
 – :

    

.

,  
, .

, , 
. , 

, , , 
, 2 ( =69,5)  ,   N2 ( =29,8).

,  4  (78
.%),  (21 .%),  0

:
N2 = 0,78 · 29,8 = 23,3 ;

2 = 0,21 · 69,5 = 14,5 .

2S 2,  0, 
. 

, .
 – , , 

,  (  10 ) ,
, .

.
, ,  40

 25%.
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p – ;
N2 – ;
n2,  n1 – 

.

:

 ( ) 

.

 = m,
 = 0 – ,

: 0,   –  ( ) 
;

m – ,
      –  (crios – . „ ”).

  :

.

 = m,
 =  – 0,

: 0,  – ;
m – ,

     –  (ebullire – . „ ”).

s
m mM

m 1000 , 

 = 
smM

m 1000 ;  = 
smM

m 1000 .

m, ms – .

 – , 
 ( 861520 22 ,;, ).

.

sm
m 1000 ;

sm
mK 1000 .
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2.1.3. 
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, .
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. ,
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: , 
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, . 
, 

, .
,  «
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 =  RT
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:

 = 0  N2;  = m;  = m.

 =1, 

.

, , ,  , , ,
:

...

,
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, , 

, 
 – 

.
.
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 ( ) 
;

, 
 – ;

;
 ( G  < 0),

 ( ) , 
 (

);

 – ;
: 

, , 
, .

 ( ) – 
, , 

:

N
n .

 ( ) , 
. 

, , .
.

,  30 %. 
,  – HClO4,  H2SO4,

HNO3, HCl, HBr, HI;  ( ) – LiOH, NaOH, KOH, RbOH,
Ca(OH)2, Ba(OH)2.

 (  3%).

. , 
 – HClO, H2S,  H2SO3,  H2CO3,  H2SiO3, 

, ,  NH4OH.
,  

3%  - H3PO4, HNO2, Mg(OH)2 – .
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 – 
,  ( +) 

. . 
 – 3

+, 
+.

, :

1) H3PO4   H+ + H2PO4
-

1= ]PO[H
]POH[]H[

43

-42 = 7,5 10-5;

2) H2PO4
-   H+ + HPO4

2-

2=
]PO[H

]HPO[]H[
-42

-24 = 6,3 10-8;

3) HPO4
2-   H+ + PO4

3-

3=
][HPO

]PO[]H[
-24

-34 = 1,3 10-12.

:

H3PO4   3H+ + PO4
3-

=
]PO[H

]PO[]H[
43

-343
.

 ( ) – , 
.

 – , -
 ( -), :

OH + + OH-

NH4OH   NH4
+ + OH-

:

1) Pb(OH)2  PbOH+ + OH-

1= ])([
][][

2OHPb
OHPbOH = 9,55 10 4;
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2) PbOH+  Pb2+ + OH-

2= ])([
][][ 2

OHPb
OHPb = 3,0 10 8.

:

Pb(OH)2  Pb2+ + 2OH-

=
])([

][][
2

22

OHPb
OHPb

 – , 
, 

, :

Zn2+ + 2OH-  Zn(OH)2 = H2ZnO2 2H+ + ZnO2
2-

Al(OH)2
+ + OH-  Al(OH)3 = H3AlO3  H2O + HAlO2  H+ + AlO2

-.

: )2, Ga(OH)3, Cr(OH)3, Ge(OH)2, Pb(OH)2,
Sn(OH)4. : 2

+ + -.

 ( ) – .
, :

Na2SO4  2Na+ + SO4
2-

KAl(SO4)2  K+ + Al3+ + 2SO4
2-

CaOCl2  Ca2+ + Cl- + ClO-.

:

1) NaHCO3  Na+ + HCO3
-

2) HCO3
-  H+ + CO3

2-.

1) FeOHCl  (FeOH)+ + Cl-

2) (FeOH)+  Fe2+ + OH-.

+ . 
.

. 

– .
 ( ) 

. 
:  (
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) ,  1, 
 – 

,
.

 – 
:

 =
1

2

,

 –  ( ).

 1, 
 (1- ) 1. 

:

 = 2 ,       :      =

.
,  (

) 
, , :

BaSO4  Ba+2 + SO4
2-

)              ( )

. 
:

.
][

][][
4

2
4

2

BaSO
SOBa

 [BaSO4] = const, 

[Ba+2]·[SO4
2-] = const = .

, 
, , 

.

, 

 ( ).
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 ( )

[Ba+2] [SO4
2-] > BaSO4 – .

.
, 

, 
, 

[Ba+2] [SO4
2-] < BaSO4 – .

, 
 ( ).

. 
. 

, 
. , 

. 
 – 

 ( ).  ( ) – 
:

 = fa  .

 fa< 1, .
,

, .

, ,
 ( ):

I = 1/2 (C1Z1
2 + C2Z2

2 + … + CiZi
2).

:
lg fa = -0,5 z2 I .
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 2.2.   (  = 298)

 = - lg 

1 2 3 4
HNO2 6,9 10 4 3,16

3 3 7,1 10 10 9,15
                1

                                                 2
H4GeO4

7,9 10 10

2,0 10 13
9,10
12,7

                  1
                                                 2

H2Se 1,3 10 4

1,0 10 11
3,89
11,0

                 1
                                                 2

H2 3
1,4 10 2

6,2 10 8
1,85
7,20

                 1
                                                 2

H2S
1,0 10 7

2,5 10 13
6,99

12,60
               1

                                                 2

2 3

2 ( )+ 2

4,5 10 7

4,8 10 11
6,35

10,32
3 1,74 10 5 4,76

          1
                                                 2

3 3
3,1 10 2

1,6 10 7
1,51
6,79

          1
                                                 2
                                                 3

3 4

7,5 10 3

6,3 10 8

1,3 10 12

2,12
7,20

11,89
                 1

                                                 2
H2 3

2,2 10 10

1,6 10 12
9,66

11,80
2,95 10 8 7,53

HCN 5,0 10 10 9,30
HF 6,6 10 4 3,18

             3 Al(OH)3 1,38 10 9 8,86

)
H3N + H2O

NH4OH
1,76 10 5 4,755

 ( )            2 Fe(OH)2 1,3 10 4 3,89
 ( )           2

                                                3
Fe(OH)3

1,82 10 11

1,35 10 12
10,74
11,87

                  2 Mg(OH)2 2,5 10 3 2,6
 ( )           2 Mn(OH)2 5,0 10 4 3,30

 ( )       1
                                                 2

Pb(OH)2
9,55 10 4

3,0 10 8
3,02
7,52

AgOH 5,0 10 3 2,30
                    2 Zn(OH)2 4,0 10-5 4,4
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 2.3.  
                       (  = 298 )

HNO3 43,6

HBr 109

HI 1011

HCl 107

H2SO4 1=103;
2=10-2

HMnO4 107

2.1.4.  ( )
+

. 
 – + , 

.
+ , 

:     2
+ + -.

, 
 (  – ).

+ + –      2 2 3
+ + –.

 =
][

]][[

2
OH

OHH  = 1,8· 10-16.

 – : 55,55 3;  
:

 ·[ 2 ]= [ +] –] = 1,8 10-16  55,55 = 1 10-14 3

, 
, :

= [ +].[OH-].
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. 
;  22  10-14

3.

= [ +].[OH-]=10-14 3.

, ,  [ +] = [OH-]  =
10-14 .

 [ +]=10-7  [OH-]=10-7 3;   
 [ +]>10-7  [OH-]<10-7 ; 

+]<10-7  [OH-]>10-7 .
, 

 ( ) 
):

 = -lg[ +];
 = -lg[ -].

 +  =  = 14,

:  = -lg  = -lg10-14 = 14.

, 
,  =  = 7. 

 < 7, pOH > 7.  pH > 7,  < 7.

:
                   < 3

                                = 3÷5
                     = 5÷6,5

                      = 6,5÷7,5
                    = 7,5÷8,5

                               = 8,5÷9,5
                 pH > 9,5

 – , 
, 

.
:

) 2 : 2
 ( 7), 2 ;
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) : 
 3,5 – 

2,  2 3,  
;

) : 
, 

;
)  S 2  N 2

, ;
)  :   Na2CO3
 NaHCO3  11 – 

, 
.

. 
.  

 – 
.

. 

.

, 
. 

.

. 
 0,05 – 0,02 

, 
.

, 

, , 
, . 

, 
 – 

, , , 
.

, 
. , 
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, ,
.

, . 

, 
. 

, 
. 

.
, 

. 
  . 

 – , 
, 

.  KCl 
 20 .

, .
 ( )

,  ( ),

:

Hg, Hg2Cl2 | HCl      |       | KCl | Hg2Cl2, Hg
g, gCl | KCl,HCl |       | KCl | AgCl, Ag

, , 
 ( ) 

. 
:

 =  +
F

RT ln a+ =  + 2,3026
F

RT lg a+ =  – 2,3026
F

RT  pH,

:  – , ;
       – ;
      a+ - ;
      R – ;
       – ;
      F – .

 – , 
. 

 HInd  Ind , 
:         HInd + + Ind– ;      Ind  Ind+ + – .
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,  –  – 
;  –  – ,

.
,

. 

 (  1-2 
10 ).

 2.3.

 2.4. 

0,1 -  1,3  - 

                                            
0,13 – 0,5
1,0 – 1,5
2,0 – 3,0  -

       
                                            

0,2 – 1,8
7,0 – 8,8

 - 
 - 

2,9 – 4,0  - 
3,0 – 4,6  - 
3,0 – 4,4 

2,5- 4,0- 5,8  - 
4,4 – 6,2  - 
5,0 – 6,6 
5,0 – 8,0  - 
6,0 – 7,5  - 
8,2 – 10,0  - 
9,3 – 10,5  -  

 R 10,0 –12,0 
11,0 –13,0  - 
12,0 –14,0  -
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2.1.5.  ( ) 

.
, , , , .

:

.

.
 4 .

1) , 
.

 – 
 – LiOH, NaOH, KOH, RbOH, CsOH  -

 Ca( )2, Sr( )2, Ba( )2.
 – HCl, HBr, HI, HNO3, H2SO4, HClO4.

Cl2,  Ca( )2
HCl, , 
 (H+ )

Cl2 + 2  Ca( )2 + 2HCl
2+ + 2Cl  + 2 2+ + 2  + 2H+ + 2Cl

, 
 – 2 :

Cl2 + 2  Ca( )2 + 2HCl

, 
. :   = 7.

2) , 
, , 

: >7.   (
) – H2S, 3

2-, SO3
2-, CN , CNS , CH3COO .

,  CH3COONa:

CH3COONa +  CH3COO  + Na
CH3COO  + Na+ +   CH3COO  + Na + + 

CH3COO +   CH3COO  + 
  ,  > 7.
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 ( +) 
 – – - .
, ,

:   > 7.

.
. :

Na2S +  Na S + NaOH
2Na+ + S2- +  Na+ + S  + Na+ + OH

S2- + S  + OH

. :
Na S + 2S + NaOH

Na+ + S  + 2S + Na+ + OH
S  + 2S + OH

,  > 7

, , 
 (Na S). 

 -  > 7.
, .

3) , .
 (Al3+, Zn2+, Mn2+, NH4

+

.).

, 
+,  –     < 7. :

NH4Cl +  NH4  + HCl
NH4

+ + Cl  +  NH4  + H+ + Cl
NH4

+ +  NH4  + H+

,  < 7.

. :
Zn(NO3)2 +  ZnOHNO3 + HNO3

Zn2+ + 2NO3  +  ZnOH+ + NO3 + H+ + NO3

Zn2+ +  ZnOH+ + H+

. :
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ZnOHNO3 + Zn(OH)2 + HNO3

ZnOH+ + NO3 +  Zn(OH)2 + H+ + NO3

ZnOH+ +  Zn(OH)2 + H+

 – ,  < 7.
, .

4) , 
. :

CH3COONH4 +  CH3COO  + NH4

CH3COO +NH4
+ +  CH3COO  + NH4

:

CH3COO +  CH3COO  + 5
3 101,8

NH4
+ +  NH4  + + 5

OH4NH 101,8

, , - . 
,  –  7. 

, 
 –  (  = 7).

,
, :

Al2S3 + 6  Al( )3  + 3H2

Cr2S3 + 6  Cr( )3  + 3H2

Al2 3)3 + 6  Al( )3  + 3H2 3
                                                        

                                                             3 2   + 3 2

. .

(h )
).
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 – , ,
:

,h

 – ,
      – .

:
;

;
, .

:

 +  +  ,

.

 [ 2 ] 
 55,5 3.  :    2 ] = const   

)(

2-
-

,

: 2 - ; 2 = 1 10–14.

2

2
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 – :
 ( ), , 

.
 ( )  ( )

.

.
h1

h 2

 h <<1,               = h 2 ; .h

, , 
.

 ( , ) 
 ( , ).

(h ) – . 
. ,

 –  – . 
. 

.

 ( ) 
.

, 
, :

+ +  =  + +

:

=
)(

2][
][

][][

M
C

H
M

HMOH .

 [MeOH]=[H+], 
, : [Me+]=CM ).

 ( . ):

=
).(

.

:

)(

2][

M
C

H =
).(

.
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:     [H+] =
.)(

.

,
:

-lg[H+] = -
2
1 lg K  -

2
1  lg ) + 2

1 lg .( .) ;

 = 7 +
2
1 lg .( .) -

2
1  lg ) ;

:  = 7 -
2
1

.) -
2
1  lg ) ,

:   .) =  -  lg .( .) – 
 (

 2.2).

, .

, 

:
– +  =  + –

:

=
)(

2][
][

][][

M
C
OH

A
OHHA ,     =

).(
.

, :

)(

2][

M
C
OH =

).(
      [OH–] =

.)(
.

:

[H+] =
][OH

K
=

.)(

K
 = .)( ;
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,
, 

:

-lg[H+] = -
2
1 lg K  -

2
1 lg .( .) + 2

1  lg ) ;

 = 7 -
2
1 lg .( .) +

2
1  lg ) ;

:  = 7 +
2
1

.) +
2
1  lg ) ,

:  .) =  -  lg .( .) – 
 (

 2.2.)

, 

 ( 7). 
:

+ + – +  =  +  ;

.).)

2 .

 – 
 ( ) 

.

2.1.6.  – .

. 

, 
.

, 
.

. 
:

1. , , 
:

 –  Cl-,  SO4
2-,  HCO3

-,
 CO3

-;
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 –  Na+,  K+,  Ca2+,  Mg2+.
2.  – :

 (  N2, 2,  Ar ,
2);

 ( 2, 4,
,  H2S,  N2, 2);

, 

,  – 
2,  ,  4,  2,

 H2S,  N 3).
,

 – ,  – .
2

2.
3.  –  ( )  (NO3

-, NO2
-,

NH4
+) ;  (H2PO4

-, HPO4
2-)

,  (H4SiO4, H3SiO4
- ).

4.  ( ) – 
, 

 10 . :
: Li+, Rb+, Cs+, Be2+,Sr2+, Ba2+;

: Cu2+, Ag+, Au+, Fe2+, Ni2+, Co2+, Pb2+;
: Al3+, Cr3+,Cr6+, Mn6+, Mo6+, V6+;

: F-, Br-, I-, BO3
3- ;

: 40K+, 87Rb+, 3H+, 226Ra+, 235U6+, 238U6+,
210Po2+,232Th4+, 14CO3

2-.
5.  – 

,  ( ) ,
:

, 
, 

, , 
, ;

, 
, 

. ,
 ( ,

) .
6. + . 

. 
, 
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, 
. +

 ( ).
7.  – , -

 ( ), , .
, 

, , 
, 
, .

, , , , 
.

– 
, 3,   (  1  ).  

 (  %0). 
,  ( ) – 

,  0,1  ( 3). 
 – , 

 105
 ( , %0).

:
 ( ) 

 1  ( 3) 
(%0) ;  1  ( 3) – 
 1  ( 3),  1  ( 3)  

 1 ;
 ( 3),  

 –  ( 3)  % ;
 ( 3), 

 ( 3);  –  ( )
 ( ) , 

;
 –  ( 3),  ( 3),

,  2,5 · 10-6 .

 – , 
 – .  – 

, . 

. . 
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 (%), , ; 

 – ,  (
), .

.

:
( ), 

( ), ( m) ( ) 17 % 
,  1,12 3.
:

, 

CM
1000 , C 1000

 (H2SO4) = 98 
 (H2SO4) = f  = 1/2 98 = 49 

31,94
98

0,1710001,12
MC

33,88
49

0,1710001,12C

S
m mM

m 1000

m, ms – 

m = m  – m . = 100 – 17 = 83 .

2,09
17)(10098

100017
m

10001000
C

;
C
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33 0,1901
1000

493,880,1901
1000

981,94)SO( 42

: 3
42 1,94)SO(CM , 3

42 3,88)SO(C ;
2,09m ; .)SO( 3

42 0,1901

2.1.7. 

        
. 

, . 
. 

. , , 
,  Fe3+, Mn4+, Sn4+, Cu2+,

Pb4+ , 
 – SO4

2-, NO3
-, CO3

2-, PO4
3-, 

. ,

, 
.

         «
»,   . 

,
 ( , , ), 

,  –  1
.

.
,   NH3,  H2S.  H2S 

,  – PbS, ZnS, CuS,
Ag2S, . 

, . 

, .
 (Na, K, Ca, Mg) 

, 
. , 

. 
.
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-
 (Eh) , ,

, 
0. :

2
0 – 2  = 2 +.

 (Eh) 
.  Eh –  – , 

 « », 
 – , 

.
 Eh  +700  -500 . 

,  ,  
 Eh:  +150  +700 . 

 250-300  Eh >0. 
 Eh  0 (  – 500 ). 

 Fe3+, SO4
2- .

 (Eh) 
 ( ). 

 ( )

, 
 ( ), 

, -
 ( ).  Eh 

 ( .)  ( .) 
, 

 ( +). C , =-lg[H+].
:

Eh = 0 +
n

0591,0 ·lg
.][

.][ [H+]m ,

: 0 -  ( );
      n – ;
      m – .

 Eh , 
, , 

: 
.
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2.1. 8. 

. 
 – , 

. 
 – 

. 
. , , 

 NaCl,  – MgSO4,  – 
 CO2  H2CO3.

.  [4]  – ,
,  (

),  –  2.5.

.  1 . 

. . [3], 
:  –  1,0 ,

 – 1,0 2,0 ,  – 2,0 2,5 ,  – 2,5 3,0 .
,  (  0,1 ) 

. 
. 

. , 
. , 

, , 
 (

 9 ).
, 

. 
 7 3. 

 6,5 9,5. 
.

,
. 

 – 
 0,85% NaCl. 

 NaCl. 
.  NaCl 

. 
. , 

.
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 2.5.  ( ) 
, 3.

0,002 - - -
0,1 0,05 0,1 0,05
0,5 - - -

0,05 0,05 0,2 0,05
0,001 0,01 0,05 0,01
2,0 - - -
- 0,05 0,05 0,05
- 0,2 0,01 0,2
- 0,01 0,05 0,01

0,7-1,5 1,0-1,5 1,5 0,7-1,7
- 1,0 - 1,0

1,0 1,5 3,0 1,0
5,0 15,0 5,0 5,0
0,3 1,0 0,1 0,3
0,1 0,5 0,1 0,05

45,0 45,0 50,0 45,0
350,0 600,0 350,0 250,0
500,0 400,0 250,0 250,0

1000,0 1500,0 - 500,0
0,002 0,001 0,001

0,5 - - -
3,5 - - -
3,5 - - -
2,0 - - -
1,7 - - -

-226, 4,4 - - -
-90, 14,8 - - -

. 
. 

 (
3 )  3. 

 – , , .

, 
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. , 
, .

2.1.9. 

 – ,   
.

, ,  
, , 
.  –

: ,
, , 

, 
. .

, , ,
, 

. , 
 ( ) 

:

2C17H35COONa + CaSO4 = (C17H35COO)2Ca  + Na2SO4
                                     

 – 
, , . .

, .

. 
2+  Mg2+  1 3  ( 3):

. =
2
1 n(Ca2+) +

2
1 n(Mg2+),

: n – 2+  Mg2+,  1 3

);

:               . =
)(

)(
2

2

Ca
Cam +

)(
)(

2

2

Mg
Mgm  =

20
)( 2Cam +

12
)( 2Mgm ,
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: m(Ca2+), m(Mg2+) – , 2+  Mg2+, 
 1 3  ( );

       (Ca2+), (Mg2+) – , 2+

 Mg2+.

,  1,5 3 ,
 1,5  3 3 – ,  3  6 3 – ,  6 

10 3 – ,  10 3 –  .  
 – 

3.
2, 

:
2 + 2 2 3

+ + 3
- .

2+  Mg2+ , 
3
-,  ( ) . 

2+  Mg2+ ,  –
 (SO4

2-)     (Cl-),  ( )
.  ( )  ( ) 

 ( ):

 =  + .

, 
).

: , ,
.

. .  ( ) 
 ( , 

):
                                                    to

Ca(HCO3)2  CaCO3  + CO2  + H2O
                                                      to

Mg(HCO3)2 Mg(OH)2  +  2CO2

 1 3.

. .
) 

):
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Ca(HCO3)2 + Ca(O )2  2CaCO3  + 2H2O
Mg(HCO3)2 + Ca(O )2  MgCO3 + CaCO3 + 2H2O

MgCO3 + Ca(O )2  Mg(OH)2 + CaCO3

0,35 3.
) 

 ( = 2+  Mg2+):

ECl2 + Na2CO3  ECO3  + 2NaCl

ESO4 + Na2CO3  ECO3  + Na2SO4

3ECl2 + 2Na3PO4  E3(PO4)2  + 6NaCl

3ESO4 + 2Na3PO4  E3(PO4)2  + 3Na2SO4

0,035 0,07 3.

. .
, 

. .  R
–  R – Na +  Na+,  

2+  Mg2+.  R –  ( -), 
 SO4

2-  Cl- (R – , 
, ). 

2+  Mg2+ +  Na+, 
  SO4

2-  Cl- -. 
, .

 0,01 3.

; 2+  Mg2+

, +. 
; 

, -.

.
) 

, , :
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Na2H2 .) + 2+ Na2Ca( .) + 2H+,

Na2H2 .) + Mg2+ Na2Mg( .) + 2H+.

 ( -
):

                                 
                                NaH2In  Na2HIn Na3In
                                =6,3          =11,5

   Mg2+

,  Mg2+

:

                                         
                                Na2HIn + Mg2+        MgHIn + 2Na+.

, 
. , , 

:

MgHIn + Na2H2 .)  MgH2 .) + Na2HIn.

, 
2+,  Mg2+. 

.

, , , ,
 (NH4OH + NH4Cl), 10.

.  2%.
, ,

, 
2+  Mg2+ ,  0,5 .

:  200

 100 , 5
. 

 0,02 . 
.
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2+  Mg2+ ( ) 
:

                                                 . =
V

nN1000 ,

: n – , , ;
      N – , ;
      V – , , .

 – 3
-

2+  Mg2+. 

.  – 
,  ( <3,1) 

>4,4),  3,1< <4,4 – .
3
- :

3
- + 2 2 3 + -.

,  ( )>0, 
, 

.  HCl
:

- + +
2 .

+ - , 
3
-, .

: 
 200  100 ,  2-3

 0,1 .  HCl
.

 ( ) :

.=
V

nN1000 ,

: n –  HCl, , ;
      N –  HCl, ,  ;
      V – , .

 ( ) .
.

, 
. 

,  SO4
2-   Cl-. 
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.

 ( ) :

. = . – . ( ).

           
, 

. 
 «

».

1
, 

,  100 , 
 4 3  ( ) 

0,1 3.   Na3PO4  500 3

?
:

:

 =
O

2
H

T

V
1000V]T[ ;

:  [ ] –  ( ), 
0,1 3 ;

VT –  ( ), VT = 4 3 ;
V – , V  = 100 3 .

:

 =
100

100041,0  = 4 3.

,  1 3  4 , 
500 3  500 4/1=2000 , 

.

,  Na3PO4
500 3 .

:

. = f (Na3PO4) = 3
164  = 54,7  = 54,7 .
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 500 3

:

m(Na3PO4) = 2000 54,7 = 109400  = 109,4 .

:    = 4 3; m(Na3PO4) = 109,4 .

2

0,38 3 2+  0,08 3  Mg2+. 
 Na2 O3, 

 5,6 3 .
:

:

. =
)(

)(
2

2

Ca
Cam +

)(
)(

2

2

Mg
Mgm  =

20
)( 2Cam +

12
)( 2Mgm ,

: m(Ca2+), m(Mg2+) – , 2+  Mg2+, 
 1 3  ( ).

:      m(Ca2+) = 0,38  = 380 ;  m(Mg2+) = 0,08  = 80 .

. =
20

380 +
12
80  = 25,7 3;

,  1 3  25,7 , 
5,6 3 (5600 3)  5600 25,7/1=143920

, .

,  Na2 O3  5,6 3

.
:

. = f  · (Na2 O3) = 1/2  106  = 53  = 53 .

 5,6 3

:

m(Na2 O3) = 143920 53= 7627760  = 7,63 .

:    = 25,7 3; m(Na2 O3) = 7,63 .
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3
 250 3 , 3)2,

 3,5 . )2,
 1 3 .

:

:

                                                    to

Ca(HCO3)2  CaCO3  + CO2  + H2O.

 m( O3) = 3,5 . 
, :

))((
)((

23

23
HCOCaMe

HCOCam
)(

)(

3

3
CaCOMe

CaCOm
;

m(Ca(HCO3)2) = )(
))(()(

3

2323
CaCOMe

HCOCaMeCaCOm
.

 Ca(HCO3)2  CaCO3:

(CaCO3)= 1\2 · 100 = 50  = 50 .
(Ca(HCO3)2)= 1\2 · 162 = 81  = 81 .

, 
:

m(Ca(HCO3)2) = 50
815,3  = 5,67 .

:

 =
)())((

)((

223

23
OHVHCOCaMe

HCOCam
;

 = 25,081
67,5  = 0,28 3.

,  1 3  0,28 , 
3 (1000 3)  1000 0,28/1= 280 ,

.
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, a( )2  1 3

.
:

. = f  · a( )2) = 1/2  74  = 37  = 37 .

 1 3

:

m( a( )2) = 280 37= 10360  = 10,36 .

:    = 0,28 3; m( a( )2) = 10,36 .

2.2.
 ( ) 

 « 1»  1-4
(  13)

1. . 
. 

  .
2. . 

, . 
?

3. . 
. 

 « »? ?
4. . ? 

? 
.

5. . , 

 ( H<0),  ( H>0)
.

6. , .
.

7. ? 
: ) ,  ) 

, )  (
), ) ) ,
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 32  AlCl3  168 3 .
 1,15 3 .

8. . 
. .  . .

9. ? 
? 

?
10. ? 

? 
?

11.  ( ).
, , 

?  (
, ).

12. . .  ( ). 
. 

?
13. ? 

? ?
.

14.
. ? 

?
15.   , 

.
16.   , 

.
17.   , 

. 
?

18.   , 
. .

19.  – . , 
, 

? . 
.

20. , 
. 
. 

? 
, 

 – ?
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21. . 
? 

? . 
?

22.  ( , 
, ). 

? 2
 N2 , 

2? 2  H2S  
,  2  N2?
2  2

?
23. . ?

. 
.

24.
? ?

25.
. .

26. .
. , 

.
27. . 

? 

?
28.

. . 
? 

. .
29.

. ? 
?

30.  ( 
, , ,

).
31. : 

,  ( ), 
, .

.
32.

:
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, , 
, 

, , . 
.

33. . 
. 

, ).
34.

. .
35. . 

. , 
. .

.
36. , 

 ( , , )

.
37.  ( ,

, ).
38. . 

? ? 
  ? 

.
39. . 

?
40. . 

?
41. ,  1 3  100 

Ca(HCO3)2  50  Mg(HCO3)2. Ca(OH)2
500 3 ? 

. 
.

42. ,  500 3

 8,5 3  0,05 3 . 
 Na3PO4  500 3 ?

. 

.
43. , , 

? 
,  1 3  0,18 .

)2  1 3

? .
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44. , ,
: ) 100 3 7,6 3

 0,1 / 3 ;  )  
100 3  2,5 3  HCl 

 0,1 / 3. 
.

45. ? 
,  10 3  0,5  MgCl2?

 Na2CO3 , ? 
.

46. , 
,  250 3 ,  5 3

 0,02 3. 
Na3PO4  5 3 ? 

. 
.

47.
?  500 3 , 

 5,5 3.   Mg2+ 2+

,  0,5 3?
48.

(Na3 O4) , 
? ? 

Na3 O4  1 3 , , 
 12  Mg2+ 2+?

49.
(Na2CO3) , 

? ? 
 (Na2CO3)  500 3 , 

,  5  Mg2+ 2+?
50. . 

,  1 3  0,126
.  ( a(OH)2)

 500 3 , 
? .
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2.3. 
 « »

 1-4, 

 –  « 1»  « -
2».

 « 1»  
:

;
 ( ) 

;
, , 

;

 –  ( )
;

-
, ,

;
 ( ) 

;

, 
;

;
, 

-
 ( 
, 

. .);
,

.

 « 1» .
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 « 1» 
 [6, c. 106 – 156; 7, c. 7 – 41] 

 [17, c. 35 – 42].

2.3.1. 
 «

».

1
2  N2  0

 0,049  0,023. ,  20%( .) 2
80%( .) N2,  0 .

 ( ) .
:  1  49 2

23  N2.  0,2 ( 2)  0,8 (N2)
. , 

, , 
, :

49 . 0,2=9,8   2    23 . 0,8=18,4  N2.
: 9,8+18,4+28,2 .

:
9,8 . 100/28,2=35%( .) 2;
18,4 . 100/28,2=65%( .) N2.

: 35%( .) 2; 65%( .) N2.

2
,  250

 3  12
 83,14 .

:
:

 =  RT, RT
M
mVP .

:

VP
RTmM  ,

25,014,83
)27312(31,83M  = 342 .

: 12 22 11)= 342 .
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3
(p), 

13,68 12 22 11  90 , 
(p0)  25 .

:
: p = N2·p0,

p0 – p = N2·p0,
p = p0 – N2·p0.

(N2) (n2)
(n1):

;
21

2
2 nn

nN

. :

n2 = OHCM
OHCm 04,0

342
68,13

)(
)(

112212

112212 ,

n1= OHM
OHm 5

18
90

)(
)(

2

2 .

: N2 = 008,0
04,05

04,0 .

:

p = 25 – 0,008·25 = 24,8.

:  24,8 .

4
 25% 

.

:

 ( )
:

t . = 
2

1 1000
mM

m ;
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:    – , 2 )= 0,52;
        m1 – , ;
         – , ;
        m2 – , .

H3  25% 
 m1 = 25 ,   m2 = 100 - m1 = 100-25=75 .

t . = 0,52
7560

100025  = 2,90

 1000 , :

t . = 100 + 2,9 =102,90 .

):

t . = 
2

1 1000
mM

m ;

:    – ,   2 )= 1,86;
        m1 – , ;
         – , ;
        m2 – , .

t . = 1,86
7560

100025  = 10,3

 00 , :

t . = 0 – 10,3 = - 10,30 .

:    t . = 102,90 ;     t . = - 10,30 .

5
 5  200 , 

 -1,45 . 
.

:
, 

.
t . :

t . = t0 – t = 0 – (-1,45)= 1,45.
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:

 = mt
mK 1000  =

20045.1
1000586,1 = 32,07

: 
32,07 .

6
, 

 0,01  MgCl2   0,01  MgSO4.

:
:

MgCl2  Mg+2 + 2Cl-
MgSO4  Mg+2 + SO4

2-

, , :
[Mg+2]=0,02 ; [Cl-]=0,02 ; [SO4

2-]=0,01 .

:
I = 1/2 (CMg+2 ZMg+2 2 + CCl- ZCl- 2 + CSO4

2-ZSO4
2-2)= 1/2 (0,02·22 + 0,02·12 +

+0,01·22) = 0,07

:

lg fa (SO4
2-) = lg fa (Mg+2)= -0,5 · 22 · 07,0 = -0,53;

fa (SO4
2-) = fa (Mg+2) = 0,3;

lg fa (Cl-) = -0,5 · 22 · 07,0 = -0,13;
fa (Cl-) = 0,74;

 = fa :

a(Mg+2) = 0,3 · 0,02 = 0,006 ;
a(SO4

2-) = 0,3 · 0,01 = 0,003 ;
a(Cl-) = 0,74 · 0,02 = 0,0148 .

       :  = 0,07;  a(Mg+2) = 0,006 ;    a(SO4
2-) = 0,003 ;

                                   a(Cl-) = 0,0148 .

7
 ( )  Mg(OH)2,

,  1,7 10 4  t=18 .
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:
 Mg(OH)2:

Mg(OH)2  Mg 2+ + 2

,  1  Mg(OH)2

 1  Mg 2+ .
 Mg 2+ : 1,7 10 4 .

— :

Mg
/101,5107,133 44

2

 Mg(OH)2:

(Mg(OH)2) =  Mg 2+ 2 = 1,7 10 4 (5,1 10 4)2 =
= 1,96 10 11

:  (Mg(OH)2) = 1,96 10 11.

8
 10-2  MnSO4

 2 10-1  (NH4)2S?

.
:

MnSO4 + (NH4)2S  MnS  + (NH4)2SO4

 (  2)  MnS,
:

(MnS) = 5,6 10-16.

:
(MnSO4) = 10-2 ,  (MnSO4) = 1/2  =  1/2 10-2 =

0,5 10-2 = 5  10-3 .
((NH4)2S) = 2 10-1 ,  ((NH4)2S) = 1 10-1 .

, 
Mn2+ S2- :

/105,21052/1 33
2Mn

;
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/1051012/1 21
2S

.

:

Mn2+ S2-  = 2,5 10-3 5 10-2 =
= 12,5 10-5 = 1,25 10-4

Mn2+ S2-  > (MnS), :

1,25 10-4 > 5,6 10-16.

:  MnSO4  (NH4)2S
, 

 MnS.

2.3.2.   
.  ( ). 

»

1
+ ,

=9,24.

:

 ( )  ( ):

 = -lg[ +];    = -lg[ ].

,   +  =  = 14,  = -lg  = -lg10-14 = 14.

:

 =14 –  = 14 - 9,24 = 4,76.

+ +

2.6. =9,24.  0,24 (
)  ( +)  0,575, 

 10 ,  (Q=9) 
. :
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+]=0,575 . 10 9=5,75 . 10 10.

. 
 ( );  22

 10 14 .

                                   = [ +].[OH ] = 10 14 .

:

[OH ] =
][

10 14

H
= 10

14

1075,5
101 =0,174 10 4= 1,74.10 5 .

:   =4,76;   [ +]=5,75  10  10 ;
                    [OH ]=1,74  10 5 .

2
 1,4 10–3 .

, .

:

+  = 1,4 10–3 = 0,14 10–2

   2.6.

 = - lg +  = - lg 0,14 10–2  =  -  lg 0,14 - lg 10–2  = 2,85.

:

 = 14 –  = 14 – 2,85 = 11,15.

:

/101,71071,0
104,1

1010 1211
3

1414

:       = 2,85;      =11,15; –  = 7,1 10–12 .
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 2.6.  [ +]  (  = -lg[ +])
+ + +

Q 0,00 1,000 10 Q Q 0,34 0,457 10 Q Q 0,67 0,214 10 Q

0,01 0,977 0,35 0,447 0,68 0,209
0,02 0,955 0,36 0,437 0,69 0,204
0,03 0,933 0,37 0,427 0,70 0,200
0,04 0,912 0,38 0,417 0,71 0,195
0,05 0,891 0,39 0,407 0,72 0,191
0,06 0,871 0,40 0,398 0,73 0,186
0,07 0,851 0,41 0,389 0,74 0,182
0,08 0,832 0,42 0,380 0,75 0,178
0,09 0,813 0,43 0,372 0,76 0,174
0,10 0,794 0,44 0,363 0,77 0,170
0,11 0,776 0,45 0,355 0,78 0,166
0,12 0,759 0,46 0,347 0,79 0,162
0,13 0,741 0,47 0,339 0,80 0,158
0,14 0,725 0,48 0,331 0,81 0,155
0,15 0,709 0,49 0,324 0,82 0,151
0,16 0,692 0,50 0,316 0,83 0,148
0,17 0,676 0,51 0,309 0,84 0,144
0,18 0,661 0,52 0,302 0,85 0,141
0,19 0,646 0,53 0,295 0,86 0,138
0,20 0,631 0,54 0,288 0,87 0,135
0,21 0,617 0,55 0,282 0,88 0,132
0,22 0,603 0,56 0,275 0,89 0,129
0,23 0,589 0,57 0,269 0,90 0,126
0,24 0,575 0,58 0,263 0,91 0,123
0,25 0,562 0,59 0,257 0,92 0,120
0,26 0,549 0,60 0,251 0,93 0,117
0,27 0,537 0,61 0,245 0,94 0,115
0,28 0,525 0,62 0,240 0,95 0,112
0,29 0,513 0,63 0,234 0,96 0,110
0,30 0,501 0,64 0,229 0,97 0,107
0,31 0,490 0,65 0,224 0,98 0,105
0,32 0,479 0,66 0,219 0,99 0,102
0,33 0,468

.
 [ +]=0,123 10 7, 

:  0,123  0,91, 
, .

, =7,91.
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3
AgNO3 -

, ,
-

. 
AgNO3  0,01 .

:
AgNO3 – , .

, 
 – . 

, 
. 

 –  < 7.
AgNO3 +  AgO  + NO3

Ag + + NO3
- + AgO  + + + NO3

-

Ag+ +  AgO  + +

 –
. .

12
3

14

AgOH

O2H 102
105

10
K

2

(AgO ) = 5,0 10-3 ( . . 2.2.)

 (h ) – , 
. , 

:

 = h 2 ,                       h = MC/

:

h = 212 10/102 = 1,414 10 5.

 ( ) , 
, 

 = 7 + 1/2 lgK . – 1/2 lg  = 7 – 1/2 . – 1/2 lg ;

 = 7 – 1/2 2,3 – 1/2 10 2 = 7 – 1,15 – 0,005 = 5,495.
:  AgO ;

,  = 5,495;  = 2,0 10 12;
h = 1,414 10 5.
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4
, 

2SO3, , 

. 2SO3
0,001 .

:
2SO3 – , .

. 
2SO3.  – , 

. 
:

1)  2SO3 + SO3 + 
   2 + + SO3

2– + + + SO3
– + + + –

SO3
2– + SO3

– + –

,  > 7

 SO3
2–

–, 
 ( >7). 

, 
.

:

][
][][

2
3

3
1 SO

OHHSO

3SO2H

O2H

K
K

1

2SO3
.2.2.):

1 2SO3) = 1,4 10–2;
12

2

14

1071,0
104,1

10
1 .

:

2) SO3 + 2SO3 + 
+ + SO3

– + 2SO3 + + + –

SO3
– + 2SO3 + –

,  > 7

.
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:

]SO[
]OH[]SOH[

3

32
2

3SO2H

O2H

K
K

2

2SO3

2( 2SO3) = 6,2 10-8;

6
8

14

2 1016,0
102,6

10 .

 0,001 2SO3, 
 ( ) 

:

 = 7 -
2
1 lg .( .) +

2
1 lg ) =  = 7 +

2
1

.) +
2
1 lg ) =

= 7 +
2
1 ·7,2 +

2
1 ·(-3) = 7 + 3,6 – 1,5 = 9,1 >7 – .

:  (
)  ( ). 

,  = 9,1. 
1 = 0,71 10–12; 2 = 0,16 10–6.

5.
: , -

 NH4NO2, 
, -

.

:
NH4NO2 – .

.

NH4NO2 +  NH4  + NO2

NH4
+ + NO2

– +  NH4  + NO2

, 
 ( 7). 

,  ( .
2.2.):

(NH4 ) = 1,76 10–5 ;      ( NO3) = 6,9 10–4.
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. 
 (  7).

35
45

14

1081008,0
109,61076,1

102

:   NH4NO2 , 7;
                      = 8·10 -3.

2.3.3.   
 «  -

»

          
,  – 

.  (
) 

 ( G), . ,

G. , 
 ( ) , 

. 
 ( 0) 

 ( G) :

n·F· 0 = - G,
: n – , 

;
       F – , F = 96500  ( , 

);
       0 –  ( ).

 ( 0) 
:
0 = 0 .) – 0 .),

: 0 .) –  ( );
      0 .) –  ( ).
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 (  25 ) 
 2.

 (
) . , 

 ( G<0), 
 (

). G>0, 
,  ( )

. G=0, .
, 

. 
, ,  – .

          1
          -

, :

KMnO4 + KI + H2SO4  MnSO4 + I2 + K2SO4 + H2O.

. .

          :

 ( ),
. ,  ( , ), 

; 
,  – .

 ( , ), 
,  – ,

 – .
 ( ) 

.  – .

, 

. 
.

. 
( ),  (+)  (-) .

:
1. .
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 ( -2), , 
 = -2. 

 -  ( +2) 
 ( –): +2  -      +     -      +      -       2+   -

OF2;  2 2; Na2O2; CaO2.

+)
= +1.  – 

 = -1, :
+    -     +2   -
Na ; Ca 2.

(F-)  = -1.
 1- ) 

 = +1.
 (  2- ) 

 = +2.

:         Zn+2; Cd+2; Al+3.
2. , 

,  = 0.

       :
0        0         0         0        0    0        0        0
O2; H2; Cl2; Br2; N2; S; Fe; Zn.

3.
.

,  = +1, 
 –  = -1.

4. , , 
, 

.
:

+4  -2                 -3  +                    +    -
SO2;           NH3;            HCl.

 = 0.

5. ,  AlPO4, 
 ( ) :  Al 
 = +3, 

 = -2; , 
,  =0.
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+3   -2
                                                          AlPO4

+3+ +(-2).4=0;    = +8-3= +5.
      AlPO4  = +5.

6.
.  (

) , , , 
. 

,
.

 2 :
- , 

, ;
- , 

.

:

1.
:

KMnO4 + KI + H2SO4  MnSO4 + I2 + K2SO4 + H2O.

2. , 
; 

, 
, :

+  +7  -2        +  -        +  +6  -2        +2  +6  -2         0         + +6 -2        +    -2
KMnO4 + K I  + H2SO4  MnSO4 + 2I  + K2SO4 + H2O.

3.
, , 

, :
          +                 -         +         -            +            2-           2+          2-           0          +           2-            0

K + MnO4 + K + I  + 2H + SO4 Mn + SO4 + 2I + 2K + SO4 + H2O.

4.
, ;

; 
( ),
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; 
:

                           -          +                      2+              0

   |MnO4+ 8H + 5 = Mn + 4H2O | 2 |
 |2I– - 2 = I2

0 | 5 |
                                _____________________________________________________

                2MnO4
– +16H+ +10 I– = 2Mn2+ + 8H2O0 +5I2

0

5.
, 

, 
:

2KMnO4 + 10KI + 8H2SO4 = 2MnSO4 + 5I2 + K2SO4 + 8H2O.

.
 (M ) 

 (M) (n ),
:

M   =
en

 .

: M (KMnO4) = 5
)( 4KMnOM =

5
158 =31,6 .

:

M (K ) =
2

)(KIM =
2

166 = 83 .

: , ,
,  – ;

M (KMnO4) =31,6 ; M (K ) = 83 .

2

 Pb(NO3)2 , :

Pb(NO3)2 + 3 3 + 2  = Pb + NO3 + 3 4 .

, 
:

0 (Pb2+ +2 = Pb0) = - 0,13 ;
0 ( 3 4 + 2 + +2 = 3 3 + 2 ) = -0,28 .
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, 
; .

           :
, , 

, :

+2 +5  -2        +1 +3 -2      +1  -2       0      +1 +5 -2     +1  +5 -2
Pb(NO3)2 + 3 3 + 2  = Pb + NO3 + 3 4 ;

Pb+2 + 2NO3
- + 3 + + 3

3- + 2
0 = Pb0 + + + NO3

- + 3 + + 4
3-;

    | Pb2+ +2 = Pb0 | 1|
 | 3 3 + 2  – 2 = 3 4 + 2 + | 1|

               Pb2+ + 3 3 + 2  = Pb0 + 3 4 + 2 +

Pb(NO3)2 + 3 3 + 2  = Pb + 2 NO3 + 3 4 .

:
0 = 0 .) – 0 .);   0 = - 0,13 – (- 0,28) = -0,13 + 0,28 = 0,15 ;

:

G = - n·F· 0 ;        G = - 2· 96500 · 0,15 =  -28950 ;

G < 0 .

:
.

, ,

 « 2» :
;

:
) / 3;   ) / 3;   ) % ;   ) / 3.

,
. ;

 ( ) 
;
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, 
3) ;

;

;
, 

.

 « 2» 
 [1, c. 50 – 60, 290 – 292; 3, c. 119 –

130, 372 – 380]  [17, c. 171 – 181] .

2.3.4.   
 « , 

»

       
:

3 3) –  ( )  1 ;
3 3 ) – 

 ( )  1 ;
% -  – .

       

. :  [SO4
2-]  =

0,128 3, .
:

 (SO4
2-) = f M = 1/2  96 = 48 ;

:

[SO4
2-] = 0,128128 3/48  = 2,7 10-3  = 2,7 

                                                                                                       ( / 3).

         
, . 

 ( ) .
 ( .)   100%  

 ( .)  100%. 
 % - :
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 ] =
a

100a  (% - );

 ] = 100  (% - );

:  – 3 ;
       – 3 ;
       – 3 ;
       – 3 .

       
. , 
 Na++K+, 

.  Na++K+ :

[Na++K+] = (Cl- + SO4
2- + HCO3

-) – (Mg2+ + Ca2+).

           , ,
.

            Na++K+

3)  ( 3)  
,  ( . )  25, 

 24. 
Na+/K+=7,05. 

, 
Na+  K+ , 

.
           1% 

. ,  2,846 3

 2,85 3,  34,57 3  34,6 3.

 (
 – 

: , . , .
,  , .).

, 
. : Cl- , SO4

2- , HCO3
-,

Na++K+ , Mg2+ , Ca2+,  ( ,  
).

, 
. , 

 (  %- ) 
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;    –  (  %- ) .
 (  %- ) . 

3.
. 

:

, 
%)100(

(100%) , ;

:  – ;
       – , 3;
       – , ;
       –  ( ), 3 3 .

 2.7. 
.

 – . , . 

3 3

3) %-

:
Cl-

SO4
2-

HCO3
-

40,2
55,1

226,2
321,5

1,13
1,15
3,71
5,99

19
19
62

100
:

Na++K+

Mg2+

Ca2+

18,1
17,8
61,1
97,0

1,66
1,27
3,06
5,99

28
21
51

100

), 3 0,4

21MgK)28(NaCa51
19Cl19SO624,0 43M

:
.= [Ca2+]+[ Mg 2+]=3,06+1,27=4,31 3

: . > 3 3, .

. : [1, .50-52]. 
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, 
 [1, .55-57].

2.4.
 ( ) 
 « 1»  « 2»

 (  13)

51. 3  0,1 
 1,32·10-2. .

.

52. , 
 0,01  Ca(NO3)2  0,01  CaCl2.

53. ) (Fe(OH)2)=4.8 10-16.
 ( , ) 

).

54.  PbCl2  25 , 
 1,32·10-2 ?

55. ,  0,02  AgNO3
 1 ?

(Ag2SO4)  1.

56.  ( ) Fe(OH)2
 Fe(OH)3  25 ?  1.

57.  (  Ag+),   1
 AgBr. (AgBr)  1.

58. ,  200  11,4
12 22 11  7 .

59. 12 22 11
101,4 .  ( m)  ( %)

. ?
 ( ) = 1,86;  ( )  =

0,52.

60. , 12 22 11  100
, )  1 ,

 1 . 
 ( ) = 1,86. E  ( )  = 0,52.
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61. , 
,  54  ( 6 12 6)  250

.  ( ) = 1,86. E  ( ) 
= 0,52.

62. 2 5  100 ,
,  -

20 ?  ( ) = 1,86. 
? E  ( )  = 0,52.

63.
 50% ( )  ( 12 22 11)?
 ( )  = 0,52.  ( ) =

1,86.

64. + , 
- : )10-4 ; )3,2.10-6

; )7,4.10-11 .

65. , + :
)2.10-7 ; )8,1.10-3 ;  )2,7.10-10 .

66. , -   :
) 4,6.10-4 ;  )5.10-6 ;  )9,3.10-9 .

67.  0,01 . , 
 0,042.

68. ,  1  0,1  NaOH. 
.

69. : ) 0,02
 NH4OH; )0,1 N; ) 0,05 . 

 2.2.

70. ,  0,2 3  7.10-4  NH4OH.
 NH4OH  1,8.10-5.

71.  KNO2 ,
. 

 ( ),  (h ) , 
(HNO2)=4.10-4,  (KNO2)=0,01 /

3.

72.  NaCN ,
. 

 ( ),  (h ) , 
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(HCN)=7,9.10-10, 
(NaCN)=0,01 3.

73.  FeCl2 ,
. 

 ( ),  ( h )  ,  
a 2(Fe(OH)2)=1,3.10-4, 

(FeCl2)=0,1 / 3.

74.  NaOCl ,
. 

 ( ),  (h ) , 
(HOCl)=5.10-8, (NaOCl)=0,001 /

3.

75.  KOBr ,
. 

 ( ),  (h ) , 
(HOBr)=2,1.10-9, (KOBr)=0,001 /

3.

76.  K3BO3
, . 

 ( ),  (h ) ,

3(H3BO3)=7,1.10-10, 
(K3BO3)=0,01 / 3.

77.  Na2SiO3 ,
. 

 ( ),  (h ) , 

2(H2SiO3)=1,0.10-11, 
(Na2SiO3)=0,1 / 3.

78.  NH4Br ,
. 

 ( ),  (h ) , 
(NH4OH)=1,7.10-4, (NH4Br)=0,1 /

3.

79.  Pb(NO3)2 ,
. 

 ( ),  (h ) , 
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2(Pb(OH)2)=3,0.10-8, 
(Pb(NO3)2)=0,01 / 3.

80.  Na2SO3
 ( ) .

,  ( )  (h )   
0,1 , 2 2 3)=6,2.10-8.

81.   
 (MnO4

- ) V),
 K2SO3 ? 

:
K2SO3 + KMnO4 + H2O   2SO4+ MnO2 + .

, 
:

(SO4
2- + H2O + 2e = SO3

2- + 2OH - ) = -0,93B;
Eo (MnO4

- + 2H2O + 3e = MnO2 + 4OH - ) = 0,60B;
-

, ,
.

82.
 (CrO4

-2 ) ), 
 Na2SO3 ?

:
Na 2SO3 + K2CrO4 +   Na 2SO4 + Cr(OH)3 + H2O.

, 
:

(CrO4
2- + 4H2O +3e = Cr(OH)3 +5OH-) = -0,13B;

Eo (SO4
2- +H2O +2e = SO3

2- +2OH- ) = -0,93B;
-

, ,
.

83. , 
 Na2SO3 ?

          :
O2 + Na2SO3  Na 2SO4

, 
:

(SO4
2- +H2O+2e = SO3

2- +2OH - ) = -0,93B;
Eo (O2 +2H2O+4e = 4OH - ) = 0,40B;
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-
, ,

.

84.
?

:
H2S + O2 = S +H2O

, 
:

Eo (S +2H+ +2e = H2S) = 0,17B;
Eo (O2 + 4H+ + 4e = 2H2O ) = 1,23B;

-
, ,

.

85.
?    :

Cu + HNO3 ( .)=Cu(NO3)2 + NO+H2O.
, 

:
(NO3

- +4H++3e = NO + 2H2O ) = 0,957B;
Eo (Cu +2e = Cu2+) = 0,337B;

-
, ,

.

86.
? :

Au+HNO3+HCl=AuCl3+NO+H2O
, 

:
(NO3

- +4H++3e = NO + 2H2O ) = 0,957B;
Eo (Au +3e = Au3+) = 1,5B;

-
, ,

.

87.
-

?
:

NH4Cl +O2 = HNO3 + HCl + H2O
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, 
:

Eo (NO3
- +10H+ +8e = NH4

+ + 3H2O) = 0,87B;
Eo (O2 + 4H+ + 4e = 2H2O ) = 1,23B;

-
, ,

.

88.
?

:
                                        S + O2 + H2O = H2SO4

, 
:

Eo (S 4
2- +8H+ +6e = S + 4H2O) = 0,367B;

Eo (O2 + 4H+ + 4e = 2H2O ) = 1,23B;
-

, ,
.

89.  Fe2+   Fe3+

?     :
                                      Fe(OH)2 + O2 + H2O = Fe(OH)3

, 
:

Eo (Fe(OH)3  + e = Fe(OH)2 + OH-) = -0,53B;
Eo (O2 + 2H2O + 4e = 4OH- ) = 0,4B;

-
, ,

.

90.
, ?    H2SO3 +Cl2

+H2O = H2SO4 +HCl
, 

:
Eo (SO4

2- + 2H+ + 2e = SO3
2-+H2O) = 0,22B;

Eo (Cl2+ 2e = 2Cl-) = 1,36B;
-

, ,
.
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91.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

276,0 54,1 108,4 210,0 725,9 153,0

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .

92.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

270,5 47,7 58,6 229,9 641,8 10,9

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .
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93.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

16,9 8,2 0,03 51,0 22,0 8,5

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .

94.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

137,2 44,2 1228,1 210,0 324,6 1863,2

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .
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95.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

49,1 13.3 12,1 120,0 74,0 19,8

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .

96.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

15,5 7,8 25,4 63,0 31,5 28,8

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .
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97.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

45,5 23,6 3,5 252,6 - 8,0

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .

98.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

16,9 2,1 5,8 66,0 - 6,4

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .
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99.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

39,8 13,8 3,6 192,0 - 4,8

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .

100.   :

 ( )

Ca 2+ Mg 2+ Na+ + K+ HCO3
- SO4

2- Cl -

40,6 22,6 3,1 207,0 14,4 11,9

:

1). , :
) ;   )  ( );   ) % - .

2).  ( ) 
, 

.
3). , , , 

  . 
. .

4).  ( ) 
,  , , , ).

5). .
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-
 25 

 ( , ,
 – 9 ,

 4  – 16 ).
     

 « », 
 ( ),

, 
 50% 

.
 ( ) 

 « », ,

=0,75 [0,5  + )] + 0,25 ,
:   –  (

) ;
                        –  (

) ;
                         –  (

) .
, 

 « »,
,  (« »   «

») .
, 

, 
 3.2.

  

.3.2

S
90 – 100
82 – 89,9
74 – 81,9

D 64 – 73,9
E 60 – 63,9

FX 35 – 59,9
F 1 – 34,9
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 250

AgBr 6 10 13 Cu(OH)2 2,2 10 20

AgCl 1,8 10 10 CuS 6 10 36

Ag2CrO4 4 10 12 Fe(OH)2 1 10-15

AgI 1,1 10 16 Fe(OH)3 3,8 10 38

Ag2S 6 10 50 FeS 5 10 18

Ag2SO4 2 10 5 HgS 1,6 10 52

BaCO3 5 10 9 MnS 2,5 10 10

BaCrO4 1,6 10 10 PbBr2 9,1 10 6

BaSO4 1,1 10 10 PbCl2 2 10 5

CaCO3 5 10 9 PbCrO4 1,8 10 14

CaC2O4 2 10 9 PbI2 8 10 9

CaF2 4 10 11 PbS 1 10 27

CaSO4 1,3 10 4 PbSO4 1,6 10 8

Ca3(PO4)2 1 10 29 SrSO4 3,2 10 7

Cd(OH)2 2 10 14 Zn(OH)2 1 10 17

CdS 7,9 10 27 ZnS 1,6 10 24
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25 .

, 

SO4
2– + 8H+ S2–+ 4H2O SO4

2– + 8H+ +8  S2– + 4H2O 0,149
S + 2H+ H2S ) S + 2H+ + 2  H2S 0,17
S4O6

2– 2S2O3
2– S4O6

2– + 2  2S2O3
2- 0,15

S2O8
2– 2SO4

2– S2O8
2-+2  2SO4

2– 2,05
Fe3+ Fe2+ Fe3+ + 1  Fe3+ 0,77
HNO2 + H+ NO + H2O HNO2 + H+ + 1  NO + H2O 0,99
NO3

– + 2H+ NO2
– + H2O NO3

– + 2H+-1  NO2 + H2O 0,84
NO3

– + 2H+ NO2
– + H2O NO3

– + 2H+ - 1  NO2 + H2O 0,81
NO3

– + 10H+ NH4
+ + 3H2O NO3

– + 10H+ + 8  NH4
+ + 3H2O 0,87

NO3
– + 4H+ NO + 2H2O NO3

– + 5H+ +3  NO + 2H2O 0,95
NO2

–+2H+ NO )+H2O NO2
– + H+ + 1  NO + H2O 0,98

I2( ) 2I– I2 + 2  2I– 0,54
IO3

– + 6H+ I– + 3H2O IO3
– + 6H+ + 6  I + 3H2O 1,08

2H+ H2 2H+ + 2  H2 0,00
O2( ) + 4H+ 2H2O O2 + 4H+ + 4  2H2O 1,23
H2O2 + 2H+ 2H2O H2O2 + 2H+ + 2  2H2O 1,77
PbO2 + 4H+ Pb2 + 2H2O PbO2 + 4H+ + 2  Pb2+ + 2H2O 1,46
Br2( ) 2Br– Br2 + 2  2Br– 1,07
MnO2( ) + 4H+ Mn2+ + 2H2O MnO2 + 4H+ + 2  Mn2+ + 2H2O 1,28

MnO4
– + 2H2O MnO2( ) + 4OH– MnO4

– + 2H2O + 3  MnO2 +
4OH– 0,57

MnO4
– + 8H+ Mn2+ + 4H2O MnO4

– + 8H+ + 5  Mn2+ + 4H2O 1,51
MnO4

– + 4H+ MnO2 + 2H2O MnO4
– + 4H+ + 3  MnO2 + 2H2O 1,69

F2 2F– F2 + 2  2F– 2,85
Cl2( ) 2Cl– Cl2 + 2  2Cl– 1,36
ClO3

– + 6H+ Cl– + 3H2O ClO3
– + 6H+ + 6  Cl–  + 3H2O 1,44

ClO– + H2O Cl– + 2OH– ClO– + H2O +2  Cl– + 2OH– 0,89
Cr2O7

2– + 14H+ 2Cr3+ + 7H2O Cr2O7
2– + 14H+ + 6  2Cr3+ + 7H2O 1,36

CrO4
– + 4H+ CrO2

– + H2O CrO4
– + 4H+ + 3  CrO2

– + 2H2O 0,95
H3AsO4 + 2H+ HAsO2 + 2H2O H3AsO4 + 2H+ + 2 HAsO2 +2H2O 0,56
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K+ Na+ NH4
+ Ba2+ Sr2+ Ca2+ Mg2+ Al3+ Cr3+ Fe3+ Fe2+ Mn2+ Zn2+ Ni2+ Co2+ Ag+ Hg2+ Cu2+ Cd2+ Pb2+ Bi3+ Sn2+

OH
F  - 
Cl  - 
Br  - 
I

S 2  - - 
SO3

2  - - -  -  -  - -  - -
SO4

2  -
PO4

3  -
CrO4

2  - - - - 
CO3

2  - - -  -
NO3  -
NO2  -  -

CH3COO  - -

:  – ;  –  ( );  – ; “–“ , 
.
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Навчально-методичне видання 
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